

ON GENERALIZED HERMITE POLYNOMIALS OF THREE VARIBALES

DHOUNSI, K.S., YASMEEN

Abstract: In this paper, we address the problem of framing three variable generalized Hermite polynomials (G.H.P.), $H_n(x,y,z)$ and using some basic relation we obtain linear generating function for three variable generalized Hermite polynomials (G.H.P.).

Key words: Dattoli polynomials, Generalized Hermite polynomials (G.H.P.), Generating functions, Hermite Polynomials, Linear Generating functions,.

Introduction: We consider the three variable generalized Hermite polynomials (G.H.P.) $H_n(x,y,z)$ defined by the generating function [2; p.511(17)] and also by Pathan, Khan and Yasmin [7]

$$\sum_{n=0}^{\infty} H_n(x, y, z) \frac{t^n}{n!} = \exp(2xt - yt^2 + zt^3) \dots(1.1)$$

These polynomials (1.1) can be viewed as a generalization of two variables Hermite polynomials (G.H.P.), $H_n(x,y)$, defined by the generating function for $z = 0$ [2, p.510 (8)] (and see also [8; p.451 (1.7)],

$$\sum_{n=0}^{\infty} H_n(x, y) \frac{t^n}{n!} = \exp(2xt - yt^2), \dots(1.2)$$

which for $y = 1$, gives the generating function of Hermite polynomials, $H_n(x)$, [4] and see also [9]

$$\sum_{n=0}^{\infty} H_n(x) \frac{t^n}{n!} = \exp(2xt - t^2) \dots(1.3)$$

By Pathan, Khan and Yasmin [6] are derived generating function of two variables (G.H.P.), $H_n(x,y)$ by relating them to the representation theory of a five dimensional Lie algebra K_5 [See [5;p.298]].

A more interesting aspect of the problem is associated with the multivariable extension of the previous families of Polynomials.

Dattoli et. al [3] introduce the p-variable Bell type polynomials [1] defined by

$$H_n^{(2,\dots,p)}(x_1, \dots, x_p) = n! \sum_{r=0}^{[n/p]} \frac{x_p^r H_{n-pr}^{(2,\dots,p-1)}(x_1, \dots, x_{p-1})}{r!(n-pr)!} \dots(1.4)$$

With generating function

$$\sum_{n=0}^{\infty} \frac{t^n}{n!} H_n^{(2,\dots,p)}(x_1, \dots, x_p) = \exp\left(\sum_{s=0}^p x_s t^s\right). \dots(1.5)$$

For $p = 3$, equation (1.5) reduces to

$$\sum_{n=0}^{\infty} H_n^{(3)}(x_1, x_2, x_3) \frac{t^n}{n!} = e^{x_1 t + x_2 t^2 + x_3 t^3}, \dots(1.6)$$

for $x_3 = 0$, equation (1.6) reduces to

$$\sum_{n=0}^{\infty} H_n^{(3)}(x_1, x_2) \frac{t^n}{n!} = e^{x_1 t + x_2 t^2}, \dots(1.7)$$

because

$$H_n^{(3)}(x_1, x_2, 0) = H_n^{(2)}(x_1, x_2) \dots(1.8)$$

For $x_2 = 0$, (1.6) reduces to

$$\sum_{n=0}^{\infty} H_n^{(3)}(x_1, x_3) \frac{t^n}{n!} = e^{x_1 t + x_3 t^3} \dots(1.9)$$

and

$$(n-k)! = \frac{(-1)^k n!}{(-n)_k}; 0 \leq k \leq n, \dots(1.10)$$

Linear Generating Functions

Theorem: Any value of parameters and variables leading to result which do not make sense are tacitly excluded then

$$\sum_{n=0}^{\infty} H_{n+k}(x, y, z) \frac{t^n}{n!} = \exp(2xt - yt^2 + zt^3) H_k(x - yt + \frac{3}{2}zt^2, y - 3zt, z) \dots(2.1)$$

Proof: Consider the following double series

$$S = \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} H_{n+k}(x, y, z) \frac{t^n v^k}{n! k!}, \dots(2.2)$$

$$= \sum_{n=0}^{\infty} \frac{H_n(x, y, z)}{n!} (t + v)^n$$

Now using equation (1.1), we get

$$S = \exp(2xt - yt^2 + zt^3) \sum_{k=0}^{\infty} \left(x - yt + \frac{3z}{2}t^2, y - 3zt, z\right) \frac{v^k}{k!}. \dots(2.3)$$

Comparing the coefficient of $\frac{v^k}{k!}$ in (2.2) and

(2.3) on both side, we get required result (2.1).

Theorem: To prove

$$\sum_{n=0}^{\infty} H_{n+k}^{(3)}(x, y, z) \frac{t^n}{n!} = \exp(xt + yt^2 + zt^3) H_k^{(3)}(x + 2yt + 3zt^2, y - 3zt, z) \dots(2.4)$$

Proof: Consider the following double series

$$S = \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} H_{n+k}^{(3)}(x, y, z) \frac{t^n v^k}{n! k!} = \sum_{n=0}^{\infty} \frac{H_n^{(3)}(x, y, z) (t + v)^n}{n!}, \dots(2.5)$$

Again using (1.6), we get

$$S = \exp(xt + yt^2 + zt^3) \sum_{k=0}^{\infty} H_k^{(3)}(x + 2yt + 3zt^2, y + 3zt, z) \frac{v^k}{k!} \dots(2.6)$$

Equating the coefficient of $\frac{v^k}{k!}$ in (2.5) and (2.6)

on the both side, we get the required result (2.4).

Theorem: To prove

$$\sum_{n=0}^{\infty} (c)_n H_n(x, y, z) \frac{t^n}{n!} = (1 - 2xt)^{-c} \sum_{r=0}^{\infty} \frac{\left(\frac{c}{3}\right)_r \left(\frac{c+1}{3}\right)_r \left(\frac{c+2}{3}\right)_r}{r!} \left[\frac{27zt^3}{(1-2xt)^3} \right]^r \times {}_2F_0 \left[\frac{c+3r}{2}, \frac{c+3r+1}{2}; -; \frac{-4yt^2}{(1-2xt)^2} \right] \dots(2.7)$$

Proof: Consider the following series

$$S = \sum_{n=0}^{\infty} (c)_n H_n(x, y, z) \frac{t^n}{n!} \dots(2.8)$$

Now using (1.4) for $p = 3$,

$$S = \sum_{n=0}^{\infty} \sum_{r=0}^{\lfloor n/3 \rfloor} (c)_n \frac{z^r H_{n-3r}(x, y) t^n}{r!(n-3r)!}.$$

Now using series rearrangement technique and Legendre's duplication formula, we get

$$S = \sum_{n=0}^{\infty} \sum_{r=0}^{\infty} \sum_{k=0}^{\infty} \frac{3^{3r} \left(\frac{c}{3}\right)_r \left(\frac{c+1}{3}\right)_r \left(\frac{c+2}{3}\right)_r \left(\frac{c+3r}{2}\right)_k \left(\frac{c+3r+1}{2}\right)_k}{k! r! n!} \times 2^{2k} (c + 3r + 2k)_n (2x)^n (-y)^k z^r t^{n+2k+3r} = (1 - 2xt)^{-c} \sum_{r=0}^{\infty} \left(\frac{c}{3}\right)_r \left(\frac{c+1}{3}\right)_r \left(\frac{c+2}{3}\right)_r \left[\frac{27zt^3}{(1-2xt)^3} \right]^r \times {}_2F_0 \left[\frac{c+3r}{2}, \frac{c+3r+1}{2}; -; \frac{-4yt^2}{(1-2xt)^2} \right]$$

$$\dots(2.9)$$

Now equating the equations (2.8) and (2.9), we get required result (2.7).

SPECIAL CASES

(i) For $z = 0$ in (2.1) and using (1.2), we get

$$\sum_{n=0}^{\infty} H_{n+k}(x, y) \frac{t^n}{n!} = \exp(2xt - yt^2) H_k(x - yt, y) \dots(3.1)$$

This is a known generating relation given by Pathan, Yasmeen and Qureshi [8, p.452 (2.4)].

Again putting $y = 1$ in (3.1), we get

$$\sum_{n=0}^{\infty} H_{n+k}(x) \frac{t^n}{n!} = \exp(2xt - t^2) H_k(x - t) \dots(3.2)$$

which is a known result [9; p.197(1)].

(ii) For $z = 0$ in (2.4), then we get a generating relation

$$\sum_{n=0}^{\infty} H_{n+k}^{(2)}(x, y) \frac{t^n}{n!} = \exp(xt + yt^2) H_k^{(2)}(x + 2yt, y) \dots(3.3)$$

which is a known result [8; p.452 (2.1)].

(iii) For $z = 0$ when $r = 0, y = 1$, then equation (2.7) reduces to [9, p.190(1)].

(iv) For $y = 0$, then (2.7) reduces to

$$\sum_{n=0}^{\infty} (c)_n H_n^{(3)}(x, z) \frac{t^n}{n!} = (1 - 2xt)^{-2} {}_3F_0 \left[\frac{c}{3}, \frac{c+1}{3}, \frac{c+2}{3}; -; \frac{27zt^3}{(1-2xt)^3} \right]$$

This is new and un known result.

(v) For $x = 0$, then (2.7) reduces to

$$\sum_{n=0}^{\infty} (c)_n H_n^3(y, z) \frac{t^n}{n!} = \sum_{r=0}^{\infty} \left(\frac{c}{3}\right)_r \left(\frac{c+1}{3}\right)_r (27zt^3)^r \times {}_2F_0 \left[\frac{c+3r}{2}, \frac{c+3r+1}{2}; -; -4yt^2 \right]$$

This is a new and unknown result.

References

1. Bell, E.T.; Exponential polynomials. *Ann. of Math.* 35 (1934), 258-277.
2. Dattoli, G., Chiccoli, C., Lorenzutta, S., Toree, A., and Maino, G., Generalized Bessel Functions and Generalized Hermite polynomials. *Jour. Math. Anal. Appl.*, 178 (1993), 509-516.
3. Dattoli, G., Lorenzutta, S., and Sacchetti, D.; A note on operational rules for Hermite and Laguerre polynomials, operational rules and Special polynomials, *Internet. J. Math. Stat. Sci.*, Vol.9, No.2 (2000), 227-238.
4. A. Dhanalakshmi, K. Srinivasa Rao, K. Sivakumar, Estimation of Molecular Descriptors of the Fullerene; *Mathematical Sciences international Research Journal ISSN 2278 – 8697 Vol 3 Issue 2 (2014)*, Pg 624-627
5. Lebedev, N.N.; *Special Functions and Their Applications*. (Translated from the Russian and edited by R.A. Silverman) Prentice-Hall, Englewood Cliffs, New Jersey.
6. Miller, W.Jr.; *Lie Theory and special functions*. Academic Press, New York and London (1968).
7. Pathan, M.A., Subuhi Khan and Ghazala Yasmin; Lie theory and two variable generalized Hermite polynomials, *Italian Journal of Pure and Applied Mathematics*, 14 (2003) 9-20.
8. S. Jafarunnisa, Prof.D.R.V. Prasada Rao, Effect of Non-Linear Density Temperature Variation on ...; *Mathematical Sciences International Research Journal ISSN 2278 – 8697 Vol 2 Issue 1 (2013)*, Pg 22-29
9. Pathan, M.A., Subuhi Khan and Ghazala Yasmin; Representation of a Lie algebra $G(0,1)$ and three variable generalized Hermite polynomials $H_n(x,y,z)$. *Integral Transforms and Special functions* 13(2002), 59-64.
10. A.D.Chandrasekaran, S.Balamuralitharan, K.Ganesan, QR Decomposition for Gram-Schmidt Algorithm; *Mathematical Sciences international Research Journal ISSN 2278 – 8697 Vol 3 Issue 2 (2014)*, Pg 663-668
11. Pathan, M.A., Yasmeen and Qureshi, M.I.; Linear and bilinear generating function involving Gould-Hopper polynomials, *Math. Sce. Res.J.* 6(9) (2002), 449-456.
12. Rainville, E.D.; *Special Functions*. Macmillan, New York: Reprinted by Chelsea Pub. Co., Bronx, New York, 1971.

Author 1: Department of Mathematics,
Maharshi Dayanand College, Sriganganagar-335001,
Rajasthan, India, E-mail:dhounsiksingh@gmail.com
Author 2: Department of Mathematics,
Government College, Kota-324010, Rajasthan, India